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Which one of the following energy is
stored in the links between the atoms ?

(a) Nuclear cnergy
(b) Chemical energy
(c) Potential cnergy

(d) Thermal energy
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Which one of the following energy is
stored in the links between the atoms ?

(a) Nuclear cnergy
(b) Chemical energy
(c) Potential cnergy

(d) Thermal energy

ANSWER : C
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Which of the following statements about
latent heat for a given substance is/are
correct ? '

1. It is fixed at a given temperature. /

2. It depends upon the temperature
and volume. ;

3. It is independent of temperature
and volume. '

4. It depends on the temperature 'bu.t
independent of volume. ./

Select the correct ‘answer using the code
given below :

@ 2
() 1 and 3
(c) 4only

(d 1 and f/

§ =mL

L — ’I‘Un/:e‘ra‘fure v

Vo f[ume

A
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Which of the following statements. about
latent heat for a given substance is/are
correct ? '

1. It is fixed at a given temperature.

2. It depends upon the temperature
and volume. :

3. It is independent of temperature
and volume. '

4. It depends on the temperature .blit
independent of volume.

Select the correct ‘answer using the code
given below :

@ 2

(b) 1 and 3
(c) 4only
(d 1 and 4

ANSWER : D
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Thermal capacity of a body depends
on the

(a) mass of the body only
(b) mass and shape of the body only
(c) density of the body

(d) mass, shape and temperature of the
body

G

= mH
\

Thermaf/ Mfﬂ 6107 .
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Thermal capacity of a body dependé
on the

(a) mass of the body only

(b) mass and shape of the body only

(c) density of the body

(d) mass, shape and temperature of the
body |

ANSWER : A
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In which of the following phenomena do heat
waves travel along a straight line with the
speed of light ?

(a) Thermal conduction
(b) Thermal convection
(¢) Thermal radiation

(d) Both, thermal conduction and radiation
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In which of the following phenomena do heat
waves travel along a straight line with the
speed of light ?

(a) Thermal conduction
(b) Thermal convection
(¢) Thermal radiation

(d) Both, thermal conduction and radiation

ANSWER: C
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Which of the following statements about

specific heat of a body is/are correct ? Heaf
/
1. It depends upon mass and shape of
the body . Q -z~ Inc (AT)
2. It is independent of mass and shape
C edfe Hel os 8

3. It depends only upon the tempera— masp
ture of the body 4

Select the correct answer using the code ( f&“{ fOT Q nyw Su 6 ;fan u)

given below :
(a) 1 only

{ e dos hof aftfenc[! m Mmals an({
(b) 2 and 3 | |
(c) 1 and 3 %meszum o][ go dd'

()] 2. only

EXAMS
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Which of the following statements about
specific heat of a body is/are correct ?

1. It depends upon mass and shape of
the body

2. It is independent of mass and shape
of the body

3 It depends only upon the tempera—
ture of the body

Select the correct answer using the code
given below :

(a) 1 only
(b) 2 and 3

(c) 1 and 3

ANSWER :

()] 2' only

EXAMS
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The hydrogen bomb and the uranium
bomb are based, respectively on

(@) nuclear fusion and fission

(b) fission and thermonuclear fusion

féﬂf"ﬁm bomb — fu;fm)

(c) geothermal fission and fusion

9 0 o
(d) geothermal fusion and fission Urapium  bomb ~ —> pfﬂ/ny
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The hydrogen bomb and the uranium
bomb are based, respectively on

(a) nuclear fusion and fission
(b) fission and thermonuclear fusion
(c) geothermal fission and fusion

(d) geothermal fusion and fission

ANSWER: A
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Which of the following represents a
relation for ‘heat lost = heat gained™

(a) Principle of thermal equilibrium
(b) Principle of colors

(c) Principle of calorimetry

(d) Principle of vaporization
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EXAMS

Which of the following represents a
relation for ‘heat lost = heat gained™

(a) Principle of thermal equilibrium
(b) Principle of colors

(c) Principle of calorimetry

(d) Principle of vaporization

ANSWER : (C)
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Which one among the following statements
with reference to the properties of water is
not correct ?

(a) The specific heat of water is abnormally /
high:

(b) Latent heat of fusion of water is very o
low.

(¢) Density of water is higher than ice.

(d) Pure water is a non-conductor of

electricity.\
dictilled  wafer ('wa’fer ﬂavfn/ no ;ms)
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Which one among the following statements
with reference to the properties of water is
not correct ?

(a) The specific heat of water is abnormally
high:

(b) Latent heat of fusion of water is very
low.

(¢) Density of water is higher than ice.

(d) Pure water is a non-conductor of
electricity.

ANSWER : (B)
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On a day when I am in hurry to go to
office, I have a fixed quantity of rice
which was just cooked and kept in a
bowl. In order to cool it quickly, which
one of the following is the best option?

(a) Let it be kept on the table in a room
where there is no fan, no air
conditioner

(b) Let it be kept in a room with AC set
at a temperature around 23 °C and
a ceiling fan (or table fan) operating
at slow speed

e e a Q
() Let it be kept in a bowl of water (at T~ 7Pafe 0/ W IDtressd WW% wm/

room temperature) and operating

a ceiling fan (or table fan) at full j 5/’“«‘{/
speed
' e
(0o D
{d) Let it be kept in a bowl of water at Obfccf‘ / $ wa /

room temperature only
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On a day when I am in hurry to go to
office, I have a fixed quantity of rice

which was just cooked and kept in a

bowl. In order to cool it quickly, which
one of the following is the best option?

(@)

(b}

(c)

(d)

Let it be kept on the table in a room
where there is no fan, no air
conditioner

Let it be kept in a room with AC set
at a temperature around 23 °C and
a ceiling fan (or table fan) operating
at slow speed

Let it be kept in a bowl of water (at
room temperature) and operating
a ceiling fan (or table fan) at full
speed

Let it be kept in a bowl of water at
room temperature only

ANSWER : (C)
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Which one of the following heat transfers is an
example of convection ?

(a) Heating of food in a microwave oven — 4a di'a HO’I)

(b)  Boiling water in a pot on a gas stove ,

(¢) Feeling the warmth in sun 0 convectisy
"N Radiehom

(d) Heating a brass rod at one end and
observing the temperature rise at the

other end \/__, QN dlttl’lom

EXAMS



NDA & CDS 12025 - PHYSICS - LIVE CLASS - 29

Which one of the following heat transfers is an
example of convection ?

(a) Heating of food in a microwave oven
(b)  Boiling water in a pot on a gas stove
(c) Feeling the warmth in sun

(d) Heating a brass rod at one end and
observing the temperature rise at the
other end

ANSWER : (B)

@

EXAMS
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Which one of the following statements
best defines the concept of heat ?

(a) The transformation of energy from
one form to another

(b) The conversion of energy into HM l_ _> eh zw due ‘7(0

mass and vice-versa due to
temperature difference

'funf erafure u(loﬁ[enna p

(c) The transfer of energy due to
temperature difference

(d) The change in volume of a
substance with temperature
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Which one of the following statements
best defines the concept of heat ?

(a) The transformation of energy from
one form to another

(b) The conversion of energy into
mass and vice-versa due to
temperature difference

(c) The transfer of energy due to
temperature difference

(d) The change in volume of a
substance with temperature

ANSWER : (C)
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The most important safety method used for protecting home appliances from short

circuiting or overloading is
—

(a) Earthing \ ‘ o , o
dbragh MCTCOSE [0 currenf Ip  UrenT.
(b) use of fuse Y4

——

(c) use of stabilizers

(d) use of electric meter
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The most important safety method used for protecting home appliances from short

circuiting or overloading is
(a) Earthing

(b) use of fuse

(c) use of stabilizers

(d) use of electric meter
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A positive charge is moving towards south in

a space where magnetic field is pointing in the - T\
north direction. The moving charge will 8
experience :
(a) a deflecting force towards north
direction. | 0 = /¢’
—
(b) a deflecting force towards east direction. Vv
(c) a deflecting force towards west
direction. J,

(d) no deflecting force.
-5 = ;
- U A g) = QUB Sind
fors, F= 9! ]

5 :=/803 ¢np'=0 F{F=0
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A positive charge is moving towards south in
a space where magnetic field is pointing in the
north direction. The moving charge will

experience :

(a) a deflecting force towards north
direction.

(b) a deflecting force towards east direction.

(c) a deflecting force towards west
direction. |

(d) no deflecting force.

ANSWER : D
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The magnetic ficld strength of a current-
carrying wire at a particular distance
from the axis of the wire

(@) depends upon the current in the

wire
(b) depends upon the radius of the g = _/Uo i B
e 27r
o) depends upon the temperature. of
the surroundings

dl None of the above
() T, /@
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EXAMS

The magnetic field strength of a current-
carrying wire at a particular distance
from the axis of the wire
(a) depends upon the current in the
wire

{b) depends upon the radius of the
wire

{¢) depends upon the temperature. of
the surroundings

(d) None of the above

ANSWER : D
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Consider the following image :

T Proton

—t—

] H

—+ » Magnetic field
—

—

A proton enters a magnetic field at
right angles to it, as shown above. The
direction of force acting on the proton
will be

(a) to the right
(b) to the left
(c) out of the page

(d) into the ﬁagf:
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Consider the following image :

T Proton
 —
—H
—+ » Magnetic field
—_—

A proton enters a magnetic field at
right angles to it, as shown above. The
direction of force acting on the proton
will be

(a) to the right
(b) to the left
(c) out of the page

(d) into the ﬁagf:

ANSWER: D
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The graphs betweéen current (f) and
voltage (V) for three linear resistors
1, 2 and 3 are given below

\
4 e
o 4 .’3 ’
! ’,-" ’¢' -
S o V= 1R ( 0hm s daw)
..:';':“;‘.:F"’T AL <V,
v v V v R <Ry <Ry - vV
If By, Ry and R, are the resistances of /
these resistors, then which one of the
following is correct?
) B> Ry5 R, for  tome 2 ,

() Ry<Ry<R;

(d) R3 > R.2 > R‘
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The graphs between current (f) and
voltage (V) for three linear resistors
1, 2 and 3 are given below

G
4 - -
/.," -
*2 -t *
-

g2-

v

If R, R; and Ry are the resistances of
these resistors, then which one of the
following is correct?

(a) Ry>Ry> Ry
(b) Ry<Ry<R;.
fc) Ry<Ry<Ry
{d) Ra>Ry>Ry

ANSWER : B

EXAMS
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Which one of the following is the value
of 1kWh of energy converted into

joules ?
(a) 1-:8x10°7 . "
(b) 3'6'>< 1087 /} A Pamr = £ng¢¢ (J)

(“’) ﬁmc (s)

: 6
@) ol 106J (/ooo W) (3600 s)
(d) 7-2x10°] T—> watt # Setond

= g x0T

—
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Which one of the following is the value
of 1kWh of energy converted into
joules 7

(@) 1.8 106]
(b) 3-6x 1067
©) 60x 106]
() 72 %1057

ANSWER : B
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Consider the following part of an electric

circuit :
2 ohm
4 ohm 1 ohm
> > WA > MAN——
The total electrical resistance in the given part -L + -é— +
of the electric circuit is °?
(a) %5- ohm PF )L
(b) 15 ohm : /
i | R
(¢) 150hm \ / \p

17
(d) —3- ohm‘ fe r’.d

sp

4
§

-—
-

7
Rp

t)

w [+

2, Yand 6§04 are /ommlld,
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Consider the following part of an electric
circuit :
2 ohm

s e e B i
> —  AMN— > AA——
N

The total electrical resistance in the given part
of the electric circuit is

15

(3} E— ohm
(b) 15 ohm
7
(¢) 15o0hm
17

— ohm
(d) 3 0 .

ANSWER : B
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Lightming 1s due to

(a) The flow of charges between
different parts of the cloud

(b) The short-circuiting of charges
between the upper and lower
surfaces of the cloud

(c) The collection of positively

"~ charged particles on the base and
collection of negatively charged
particles at the top of the cloud

(d) The induction of positive charge
on the ground below the negative
charge at the base of the cloud
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Lightming 1s due to

(a) The flow of charges between
different parts of the cloud

(b) The short-circuiting of charges
between the upper and lower
surfaces of the cloud

(c) The collection of positively

"~ charged particles on the base and
collection of negatively charged
particles at the top of the cloud

(d) The induction of positive charge
on the ground below the negative
charge at the base of the cloud

ANS : D

EXAMS
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In which one among the following
situations, the bulb (X) would glow the
most ? (Consider all batteries arc the

same)

(a)

(b)

(©)

(d)

M ax froum dlm

r "\

Ly Para/h/

— MaX I°Mam

6bﬂwf volfase

arrent
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In which one among the following
situations, the bulb (X) would glow the
most ? (Consider all batteries arc the

same)
! “
(a) ©
— @ —
i I
(b) (d)

&
X ® ANS : D
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For an electric circuit given below, the
correct combination of voltage (V') and
current (/) is

/_\) V = ]XR
3A

&)

@

100 Q

b
1 A ,
> —A\WW\ >
), 2000

-~ 3A X100 4 :

200 and 300 L art /mm/ld wifh 100 AL .

v N;II be Same O all Thret ,
1, 300Q
= - = = 300V - /'FA
(@ V=900V, I=18 A ]:2”]2_’13 1, _
(b) ¥=300V;I=55A 200 4
(c) ¥=600V;I=1A (k/'roh%( 3 /SF/aw) L = v - |4
d V=300V I=2A 00 4

= L+ L+ 234+ 185 +1A =
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For an electric circuit given below, the
correct combination of voltage (¥) and
current (/) is ‘

—© 3A
(A
/ 100Q _
< ol
> AN >
20002

30022

(a) ¥=900V;I=18 A
(b) ¥=300V;I=55A
() V=600V;I=1A
d V=300V:I=2A

ANS : B

EXAMS



NDA & CDS 12025 - PHYSICS - LIVE CLASS - 29

An incandescent electric bulb converts
20% of its power consumption into
light, and the remaining power 1Is
dissipated as heat. The bulb’s filament PONer [ P
has a resistance of 200  and 2 A
current flows through it. If the bulb
remains ON for 10h and the rate of
electricity charge is ¥ 5/unit, then
which among the following is the = 400 b‘)__
correct amount for the money spent on

producing light ? 020./0 97[ 00 W - 40 _x o0 = (6o W

a s . /0

® %3 In  Light ’

(b) 6 = 0+/60 kW
() T7 104 —
o 0h — £mw = 0:/60 X10 kwh = (g kiob

bosf — /6x<5 - ¢ 8.0 =

1* R

L

\)

(2)‘ A 2004
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An incandescent electric bulb converts
20% of its power consumption into
light, and the remaining power is
dissipated as heat. The bulb’s filament
has a resistance of 200  and 2 A
current flows through it. If the bulb
remains ON for 10h and the rate of
electricity charge is ¥ 5/unit, then
which among the following is the
correct amount for the money spent on
producing light ?

(a) TS5
(b) 6
(c) X7
(d) T8

ANS : D
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The AC mains domestic supply current
in India changes direction in every

(H) 505 ]T’d’a ‘0
(b) 30 s VI
(c) 100 s
@ 155 S

EXAMS

220 v,

[l v, 60 Hz
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The AC mains domestic supply current
in India changes direction in every

(@) 50s
(b) 30 s
(c) 100 s

@ 155 S

ANS : D
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Which one of the following is primarily
responsible for conduction of current in a

metal ?
(a) DBound electrons
(b) Free electrons

(e} Both bound and free electrons

(d) Tons
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Which one of the following is primarily
responsible for conduction of current in a

metal 7

(a) DBound electrons
(b) Free electrons

(e} Both bound and free electrons

(d) Tons

ANS : B
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Consider the following electric circuit :

5Q

—AMA—
10Q

S-AMA—-
0Q

AW
5Q

10Q

L10V

—a—

The current in the above electric circuit is :

(a) 1A

(b) (10/15) A

() 2A

d 15A

EXAMS

cutvenf i fl dlorecffdt Jo Fhro HUS

o1

/\.

b

I3
—WW

—WW

cerfu onnethen

Tofa) Tesichne = 52 + 50
= fon
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Consider the following electric circuit :

5Q

—AMA—
10Q

—AMA—
0Q

— AW
5Q

10Q

10V

e

The current in the above electric circuit is :

(a) 1A

(b) (10/15) A

() 2A

d 15A

Answer: (A)

EXAMS
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. Two equal resistors R are connected
in parallel, and a battery of 12V is
connected across this combination.
A dc current of 100 mA flows through
the circuit as shown below :

¥y Ve Pa‘ralh/

100 mA
I R N
e
12V

The value of R is
(a) 120 Q
(b) 240 ©
(c) 60 Q
(d) 100 ©Q

[@i=]
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. Two equal resistors R are connected
in parallel, and a battery of 12V is
connected across this combination.
A dc current of 100 mA flows through
the circuit as shown below :

"R
1 —CW'\/VV\'W:>—
00mA | A \}
|}
12V
The value of R is
(a) 120 Q
(b) 240 O
(c) 60 Q
(d) 100 Q

ANSWER : B
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A fuse wire must be

(a)

(b)

(c)
(d)

conducting and of low melting
point

conducting and of high melting
point

insulator and of high melting point

insulator and of low melting point

EXAMS
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EXAMS

A fuse wire must be

(a) conducting and of low melting
point

(b) conducting and of high melting
point

(c) insulator and of high melting point

(d) insulator and of low melting point

ANSWER: A
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Let us consider a copper wire having:

radius » and length /. Let its resistance
be R. If the radius of another copper
wire is 2» and the length is //2 then the
resistance of this wire will be

(a) R [

(b) 2R k= 7L*2
T

(c) R/4

(d) RIS £ = f’(-f
T (2
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Let us consider a copper wire having'
radius » and length /. Let its resistance
be R. If the radius of another copper
wire is 2» and the length is //2 then the
resistance of this wire will be

(a) R
(b) 2R
(c) R/4

(d) RIS

ANSWER: D
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In an electric circuit, a wire of resistance 10 Q
is used. If this wire is stretched to a length
double of its original value, the current in the

circuit would become :

(a) half of its original value. J

A
(b)  double of its original value. R £ | ( l:é f 07\4 A an S‘am)
(¢)  one-fourth of its original value. N’
9
(d) four times of its original value. 15, l ;{ dﬂul’ I (.4 :ﬁ K /§ me/ei

' R fos dauUG,J ? Wl be
V= /R ' // halved
> 7 & 'k; U& V }S S’amb) —_—

™9
"

A
R
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In an electric circuit, a wire of resistance 10 Q
is used. If this wire is stretched to a length
double of its original value, the current in the

circuit would become :

(a) half of its original value.

(b)  double of its original value.

(c)  one-fourth of its original value.

(d) four times of its original value.

ANSWER : A
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"When the shurt circuit - condition
occurs, the current in the circuit

(a) becomes zero
(b) remains constant
(c) increases substantially

(d) keeps on changing randomly
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"When the shurt circuit - condition
occurs, the current in the circuit

(a) becomes zero
(b) remains constant
(c) increases substantially

(d) keeps on changing randomly

ANSWER : C
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A metallic wire having resistance of

20€2 is cut into two equal parts in

length. These parts are then connected

in parallel. The resistance of this hhd th hﬂ/ W,cf
parallel combination is equal to

(@ 20Q
®) 100 fesl:fance ﬂa/veaf
) 5Q |

d) 15Q Pma”d

CZU;M/CDF YQS;SfGnCeS z _39_ :@
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EXAMS

A metallic wire having resistance of
20€2 is cut into two equal parts in
length. These parts are then connected
in parallel. The resistance of this
parallel combination is equal to

(@) 20Q
(b) 10Q
(c) 5Q
d 15Q

ANSWER: C
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Two forces of 5:0 N each are acting on a point
mass. If the angle between the forces is 60°,

then the net force acting on the point mass
has magnitude close to :

(a)
(b)
(c)
(d)

86 N
43N
50 N
67N

Mvn;'fud! 9f resa/fonf Of fwp vecfors,

R = \/—4“7‘ 8% + 3480090

A%X5 ¥ ot Lo’

d

-
-

afﬁ o beTRe Fro

Veddoys ,

/0 ¢ 20°

=/ox o .

q

V3 = 540 32
> §bN
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Two forces of 5:0 N each are acting on a point
mass. If the angle between the forces is 60°,
then the net force acting on the point mass

has magnitude close to :
(a) 86N
(b) 43N
0 50N
(d 67N

ANSWER: A
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A particle is moving in a circle of radius R
with a constant speed v. Its average
acceleration over the time when it moves over

half the circle is : -V
(a) yﬁz_
2
(b) ’;"—R
(c) z—ani Y
d 0

a V"vﬂ acceferali m

= C/)M”e 70 VC/fJuoﬁ/ : V-.('-v)_‘ - 2v = 4yt
v v —_

78 [ Dicfanu | (n‘ﬁ MR
Ime  fakep ( fped / v PORS
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EXAMS

A particle is moving in a circle of radius R
with a constant speed v. Its average
acceleration over the time when it moves over

half the circle is :
(a) %
2
B
(c) 2—1:;:-
d 0

ANSWER : C
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Which one of the following graphs
represents the equation of motion
v=u+at; where all quantities are
non-zero and symbols . carry their
usual meanings ?

(2)
g
g
o
0 time(s)

(b)

distance (m)

0 time(s)

distance (m)

0

(d)

distance (m)

time (s)

e

0

time (s)

)
a /¢ non- ero

(dray)/) canpo! be Kfmfdbf line

or b‘ncar)
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Which one of the following graphs
represents the equation of motion
v=u+at; where all quantities are
non-zero and symbols . carry. their
usual meanings ?

(a)
g
:
©
0 time(s)

(b)

distance (m)

0 time(s)

(d)

distance (m)

0

distance (m)

time (s)

e

0

time (s)

ANSWER: D

@

EXAMS
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A bullet of mass 10 g is horizontally fired
with velocity 300 m s~! from a pistol of
mass 1 kg. What is the recoil velocity
of the pistol?

(@ 03 ms!
)
() 3 m s”1 t0
(c) -3 m s! — i
(

(d) —0:3 m s~}
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EXAMS

A bullet of mass 10 g is horizontally fired
with velocity 300 m s~! from a pistol of

mass 1 kg. What is the recoil velocity
of the pistol?

(@ 03 ms!
(b) 3 m s~1
(¢ -3ms!

(d) —0:3 m s~!

ANSWER: C
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A vehicle starts moving along a

straight line path from rest. In first ¢

seconds it moves with an acceleration

of 2 m/s? and then in next 10 seconds t s B

it moves with an acceleration of . C

5 m/s2. The total distance travelled by 4 I,/ B) 5m[st

the vehicle is 550 m. The value of y L
time ¢ is =0 ;503 _ —
@ 10s —
() 13 ¢ '\ (
() 20s - VB = utd v, = Vg + (5) ID)
d) 25 .
e iy =0+ 3(¢) b = aF+ 50
vy = 2} B
8 2 .
= Wo- vyt = dal,,

W _ug = 405y (at#m)! = (31 = 2953,
.l/tz__ 02‘ - “XASAQ #



NDA & CDS 12025 - PHYSICS - LIVE CLASS - 29

(af #50)* = (af)* = X%

200F + 2500 = IpSp,

$po = ¢

SBC < e?OJ' +°?50

S + S8 T 550

t=-2 ( Te]eo‘fw{ oL 1 onmf
£t # 20f + 50 = 550 L, nﬁd@
t> + a0t 300 =0
(6-/0)(%720) = D
t = /o, -30
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EXAMS

A vehicle starts moving along a

straight line path from rest. In first ¢

seconds it moves with an acceleration

of 2 m/s? and then in next 10 seconds Answer: A
it moves with an acceleration of

5 m/s2. The total distance travelled by

the vehicle is 550 m. The value of

time 7 1s

(@) 10 s
(k) 13 ¢
(c) 20s
(d 25s
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Which one of the following forces is
non-central and non-conservative ?

(a) Frictional force
(b) Electric force.
(c) Gravitational force

(d) Mechanical force

[@i=]
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Which one of the following forces is
non-central and non-conservative ?

(a) Frictional force Yo fefive fo -y
(b) Electric force.

(c) Gravitational force

(d) Mechanical force

ANSWER: A
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A negative work is done when an applied force

F and the corresponding displacement S are
(a) perpendicular to each other.

W = P coso
(b) parallel to each other.

(c) anti-parallel to each other. 0
For W <o [nl(fm‘m)

(d} equal in magnitude.,
oo = —|
0 = /¢

(o/b/; oorfe  diveckong of £ and ?)

/

( anfy - [Jam/li/)
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A negative work is done when an applied force
F and the corresponding displacement S are

(a) perpendicular to each other.
(b) parallel to each other.

(¢c) anti-parallel to each other.
(d) equal in magnitude.

ANSWER: C
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Two bodies of mass M each are placed R
distance apart. In another system, two bodies

R ..
of mass 2M each are placed oY distance apart.

If F be the gravitational force between the
bodies in the first system, then the
gravitational force between the bodies in the

second system will be

- GMM
(a) 16F p )

2
() 1F R
() 4F

(d) None of the above

P = Gl em) _ 4GM =

£
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Two bodies of mass M each are placed R
distance apart. In another system, two bodies

R ..
of mass 2M each are placed oY distance apart.

If F be the gravitational force between the
bodies in the first system, then the
gravitational force between the bodies in the

second system will be

(a) 16F
(b) 1F
() 4F

(d) None of the above

ANSWER: A

[@i=]
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EXAMS

A liquid is kept in a glass beaker.
Which one of the following statements
is correct regarding the pressure
exerted by the liquid column at the
base of the beaker ?

(a) The pressure depends un- the area
of the base of the beaker

',7..'
(b) The pressure depends on the P - A
height of liquid column f J\/\ ace dim Hb’p
(c) The pressure does not depend on
the density of the liquid o(ue
(d) The pressure neither depends on Au. Ya d Ch![.f 7o
the area of the base of the beaker . o ) / 0
nor on the height of liquid column ) f tlzu ,4 .)[ dW\W

tolumy ”7“’0‘{
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@

A liquid is kept in a glass beaker.
Which one of the following statements
is correct regarding the pressure
exerted by the liquid column at the
base of the beaker ?

(a) The pressuré depends nn- the area
of the base of the beaker

(b) The pressure depends on the
height of liquid column

(c) The pre:ssure does not depend on
the density of the liquid

(d) The pressure neither depends on
the area of the base of the beaker
nor on the height of liquid column

ANSWER : B
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EXAMS

Which one of the following terms cannot
represent electrical power in a circuit?

(@ VI

(b) I?/R
(c) I?R
(d V?/R
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EXAMS

Which one of the following terms cannot
represent electrical power in a circuit?

(@ VI

(b) I*/R
(c) I?R
@ VR

ANSWER : B
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An object is made of two equal parts
by volume; one part has density p, and
the other part has density 2p,. What is
the average density of the object?

(@ 3pg

3
(b) Epo

(c) po

(d) —Po

A
(42 (

Tofa/ mags = (fﬂ%}'{' ( w

Tofal vofume

Y

Qf’)
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EXAMS

An object is made of two equal parts
by volume; one part has density p, and
the other part has density 2p,. What is
the average density of the object?

(@ 3pg

S
Po

(D)5

(c) pyo

d =po

ANSWER : B
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The time period of a 1 m long pendulum
approximates to

(@ 6 s

(b) 4 s

(c) 2s

(d 1s

T axll = m
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EXAMS

The time period of a 1 m long pendulum
approximates to

(@ 6 s

(b) 4 s

{c)%: 278

(d 1s

ANSWER : C
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All objects experience a buoyancy when
they are immersed in a fluid. Buoyancy
is

(@) a downward force
(b) a downward pressure \ \

(c) an upward force B
(d) an upward pressure é

W — wefdhl'

8 ——’Buvapl' fwu

(ﬂ uodmr) 40-)-—.
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EXAMS

All objects experience a buoyancy when
they are immersed in a fluid. Buoyancy
is

(@) a downward force
(b) a downward pressure
(c) an upward force

(d) an upward pressure

ANSWER: C
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EEEEE

. Two planets orbit the Sun in circular
orbits, with their radius of orbit as
R; =R and R, = 4R. Ratio of their
periods (T,/T,) around the Sun will be

(a) 1/16
(b) 1/8 7 « R (Kepler s 3™ faw) ,
2
1/4 2 1y -
g U (%] "
(d) 1/2 7;2 sz

u/%’—*é

H G 7w W
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. Two planets orbit the Sun in circular
orbits, with their radius of orbit as
R; =R and R, = 4R. Ratio of their
periods (T,/T,) around the Sun will be

@) 1/16
(b) 1/8
(c) 1/4
d 1/2

ANSWER : B

EXAMS
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A pendulum clock is lifted to a height where
the gravitational acceleration has a certain
value g. Another pendulum clock of same
length but of double the mass of the bob is

lifted to another height where the 7‘ - !
gravitational acceleration is g/2. The time X
period of the second pendulum would be : €
(in terms of period T of the first pendulum)
(@ 2T 7' AT / -
)iy sl f/r
J2
) 2V2T > Jﬁ]f L ‘:—f; AL
@ T ' i
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A pendulum clock is lifted to a height where
the gravitational acceleration has a certain
value g. Another pendulum clock of same
length but of double the mass of the bob is
lifted to another height where the
gravitational acceleration is g/2. The time
period of the second pendulum would be :

(in terms of period T of the first pendulum)

(a) J2T
1
b —T
(b) 72
o 2 2T
@ T

ANSWER: A
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Which one of the following statements is
correct for a plane mirror?

()

(b)

(d)

Its focal length is zero.

The size of the image of an object
placed in front of the mirror is
glightly less than that of the object.

The image is virtual, erect and
Iaterally inverted.

Its focal length is 200 cm,

EXAMS
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EXAMS

Which one of the following statements is
correct for a plane mirror?

(a) Its focal length is zero.

(b) The size of the image of an object
placed in front of the mirror is
glightly less than that of the object.

c) The image is virtual, erect and
laterally inverted.

(d) Its focal length is 200 cm,

ANSWER: C
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In case of a concave mirror, if an object
is kept between principal focus F and
pole P of the mirror, then which one
of the following statements about the
image is NOT correct ?

(2) The image will be virtual

(b) The image will be enlarged. or
magnified

(c) The image will be formed at
 infinity

(d) The image will be erect
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In case of a concave mirror, if an object
is kept between principal focus F and
pole P of the mirror, then which one
of the following statements about the
image is NOT correct ?

(2) The image will be virtual

(b) The image will be enlarged. or
magnified

(c) The image will be formed at
 infinity

(d) The image will be erect

ANSWER: C
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An object is placed in front of a convex
mirror. Which one of the following
statements is- correct?

fa) 1t will never form an inverted image.

(b) The image moves towards the focus
when the object moves towards the
mirror,

c) Depending on the position of the
object with respect to the mirror,
the image can be inverted and real,

(d) The size of the image becomes
larger than that of the object when
the object is placed at a distance
equal to half the focal length.
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EXAMS

An object is placed in front of a convex
mirror. Which one of the [ollowing
statements is correct?

fa) 1t will never form an inverted image.

(b) The image moves towards the focus
when the object moves towards the
mirror,

c) Depending on the position of the
object with respect to the mirror,
the image can be inverted and real,

(d) The size of the image becomes
larger than that of the object when
the object is placed at a distance
equal to half the focal length.

ANSWER : A
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EXAMS

Which one of the following statements
about the refractive index of a material
medium with respect to air is correct ? -

(a) It can be either positive or negativé
(b) It can have zero value
(c) It is unity for all materials

(d) It is always greatef than one
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EXAMS

Which one of the following statements
about the refractive index of a material
medium with respect to air is correct ? -

(a) It can be either positive or negativé
(b) It can have zero value
(c) It is unity for all materials

(d It is always greatef than one

ANSWER: D
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If the focal length of a convex lens is

50 cm, which one of the following 1s its
power?

fa] +2 dioptre
(b) +0:02 dioptre
fc) -0-5 dioptre

(d) +05 dioptre
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EXAMS

If the focal length of a convex lens is
50 cm, which one of the following 1s its
power?

fa] +2 dioptre

(b) +0:02 dioptre

fe) -0-5 dioptre

(d) +05 dioptre

ANSWER : A
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Mirage is an illustration of

(a) only dispersion of light.

(b) only reflection of light.

(c) only total internal reflection of light.

(d) both refraction and total internal
reflection of light.
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EXAMS

Mirage is an illustration of

(a) only dispersion of light.

(b) only reflection of light.

(c) only total internal reflection of light.

(d) both refraction and total internal
reflection of light.

ANSWER: D
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EXAMS

The refractive index of fused quartz is
146 and that of sapphire is 1-77. If v,

is the speed of light in quartz and v
is the specd of light in sapphire, thEI'l
which one of the fullnwmg relations is .
correct ?

(@) vg> v
(b) v> vql

(G) V= Vq

VY
d) ve=—-
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EXAMS

The refractive index of fused quartz is
146 and that of sapphire is 1-77. If v,

is the speed of light in quartz and v
is the specd of light in sapphire, thEI'l
which one of the fullnwmg relations is .
correct ?

(@) vg> v
(b) v> vql

(C-) V= Vq

Y
q .
(d) V= 2

ANSWER: A
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EXAMS

The part of the human eye on which
the image is formed is

() pupil
(b) cornea
(c) retina

(d) iris
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EXAMS

The part of the human eye on which
the image is formed is

() pupil
(b) cornea
(c) retina

(d) iris

ANSWER: C
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EXAMS

A glass prism splits white light into different
colours. This phenomenon is called dispersion
of light by prism. Which one of the following
statements is correct ?

(a) Red light will deviate the most and it is
because of the reflection of light.

(b)  Violet light will deviate the most and it
is because of the refraction of light.

(¢)  Red light will deviate the most and it is
because of the refraction of light.

(d) Violet light will deviate the most and it
is because of the reflection of light.
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EXAMS

A glass prism splits white light into different
colours. This phenomenon is called dispersion ANSWER : B
of light by prism. Which one of the following
statements is correct ?

(a) Red light will deviate the most and it is
because of the reflection of light.

(b)  Violet light will deviate the most and it
is because of the refraction of light.

(¢)  Red light will deviate the most and it is
because of the refraction of light.

(d) Violet light will deviate the most and it
is because of the reflection of light.
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Human eye can see objects at
different distances with contrasting

illuminations. This is due to

(@)

(b)

(c)

(d)

far-sightedness

near-sightedness

far-sightedness and
sightedness

accommodation of eye

near-

@

EXAMS
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EXAMS

Human eye can see objects at
different distances with contrasting
illuminations. This is due to

(a) far-sightedness

(b) near-sightedness

(c) far-sightedness and near-
sightedness

(d) accommodation of eye

ANSWER: D



NDA & CDS 12025 - PHYSICS - LIVE CLASS - 29

Which one of the following statements

about the speed of sound waves is not
correct?

(a) The speed of sound waves in steel
is higher than that in water,

(b) The speed of sound waves in
" air decreases with increase in
temperature,

(c) The speed of sound waves in
air increases with increase in
temperature.

(d) The speed of sound waves in water
is higher than that in air.

S/w( of Sound Ware o Jr

Ve
vid 7 Yuig 7l

[@i=]
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Which one of the following statements

about the speed of sound waves is not
correct?

(a) The speed of sound waves in steel
is higher than that in water.

(b) The speed of sound waves in
air decreases with increase in
temperature,

(c) The speed of sound waves in
air increases with increase in
temperature.

(d) The speed of sound waves in water
is higher than that in air.

Answer: B

EXAMS
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Which one of the following optical
phenomena supports that the light is
a transverse wave ?

(a) Refraction
(b) Diffraction lo:tfffudim/ t Trancygee Wove
(c) Interference
(d) Pnlarizatinn%

| 01),0‘ /
L—» frahd verse  Aave
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EXAMS

Which one of the following optical
phenomena supports that the light is
a transverse wave ? Answer: D

(a) Refraction
(b) Diffraction
(c) Interference

(d) Polarization
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Which one of the following state-
ments is true for sound waves propa-
gating in air ?

(2)
(b)
(©)
(d)

Sound is an electromagnetic
wave and transverse in nature

Sound is a mechanical wave and
longitudinal in nature

Sound is a mechanical wave and
transverse in nature

Sound is an electromagnetic
wave and longitudinal in nature

wmf n(f/bl)f ( Yo

- ')necﬁam'ca/ Waye (neuf.c /) medfam

fo fravd}

— [o/bfi?‘u dima[ (n pature

Ak

(wave /oro/)odafu fo
ﬂ){ fame dlﬂchm o4
orfr e/ wbmh)
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EXAMS

Which one of the following state-
ments is true for sound waves propa-

gating in air ?

(a) Sound is an electromagnetic Answer: B

wave and transverse in nature

(b) Sound is a mechanical wave and
longitudinal in nature

(c) Sound is a mechanical wave and
transverse in nature

(d) Sound is an electromagnetic
wave and longitudinal in nature
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